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The figures‘ in the margin' indicate
full marks for the questions.

Answer either in English or in Aséamesé.'
‘1. Answer the following questions :  1x8=8

fafiRe e Tes it ¢

(@) State the law of demand.

vifeml R e 3411

(p) What is a market ?
Iae e

() What is market supply ?
G 9 ﬁs?_

(@ What is inflation ?
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() What are the components of aggregate
demand ?

- AR SRR SR b R

() In the Consumption'function what is
total consumption when income is
zero?

'c@mwwwwm@mm%w?

(g0 Give an example of progressive taxation
in the context of India.
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(h) Define fiscal deficit in a budget.
cersy R wifve et fan |

2. Answer any six of the followmg questions.
2x6=12

ﬁwﬁﬂ—mmﬁmmsﬁﬁ%mﬁm

(@ What is meant by economic éfﬁciency ?
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(b) Define Marginal Rate of Transformation
(MRT).
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Why is a firm said to be a ‘price taker’ - |
in perfect competition? ’
o fSrfiere aiq afdee o 7@ o=t
IS’ @ =W |

Explam brlefly the concept of
consumers’ surplus ‘with ‘a suitable

~ example. .

ququam%wmmm
WZ?FWWl :

Give Hicks’ definition of in_cbme.
e R e IE |
What const1tute the domestlc territory

of a country ?
@WWWW%W]%%WW@N?

What is the condition for equilibrium
in an economy ?

aﬂaw@f‘wms@ﬁs?

Interpret Y = C + I in the ex-ante sense.

Y = C + I3 eejifioei® gt 31|

When is a tax said to be Buoyant?
Ry W e AR FIO! & @A
iﬂ‘?
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(j') Differentiate between a direct tax and
an indirect tax.

oeTF T AT AQT IR AL e

3. Answer any four of the followmg questions :
. 5%4=20

ﬁﬁﬁﬁwmﬁmmﬁm@mﬁm

(@) Point out the distinction between shifts -
in the demand curve and movements
along a demand curve

 DIfA (R IR mmmmmﬁmw
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‘ (b) What is meant by cross pr1ce elasUc1ty

‘ of demand ? What will be the sign of

the elasticity in cases when the two

goods are of substitutes and when they
are compliments ? 3+2=5

siRiR o e Rfrgeiee! fit 7
TR 2 Rew s ~ARofss Andla TS ua%
Fifgrioen iz f 212

,'(c) Bring out the main pomts of distinction

between a perfectly competitive market
and monopoly.

7 frIRreRER i qasToat TR S
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(@)

9

(h)

How is the market demand curve
derived from the individial demand

“curve ? Expl'a‘in diagrammatically.

- Gfedt AR e s v 2 1

Define unemployment. How is the

unemployment rate calculated ?

2+3=5

| ﬁwﬁw\wﬁmﬁwmmﬁw
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What is a Multiplier ? Illustrate its

operatlon using an 1llustrat1ve example.
2+3=5

ew%?w«wmaﬂmﬁm

sl

What is ‘tax’? Mention a few important
features of taxation. . 1+4=5

‘W’%?W%@WEWWW'«’IWI

Explain regressive taxation with the

help of a diagram. .,Staté two merits of

. regressive taxation. 3+2=5
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4. Answer any two of the followmg questions :

10x2=20

ﬁﬁ%ﬂ—m fRicizt 7517 Sex Tt ¢

(@) Explain the idea of ‘opportumty cost.

(b)

- (©

(@)

Define and draw Production Possibility

Curve (PPC)? What do points outside

. and pomts inside the PPC signify ?

3+3+4=10
ST T el <1 T | B TSR R
el fr foa wiwl| @3 (@IMRER ARSI wiE
foess R & spiwe

Explain how equilibrium is determined
in a competitive market ? Under what

conditions will the equilibrium be

stable ? 7+3=10"
AfStaifones IEiee Sy & wE Rafko

,wmwuﬁsm@amﬁ%ﬁw

Describe the circular ﬂow of Income in
an economy.

@ﬂa<aﬂ$fﬁsvmﬂ<§@h1amiﬁzmﬁraﬁnl

Distinguish between the current
account and the capital account of the
balance of payment. Describe the
components of the current account.
4+6=10.
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(e) Describe the structure of a budget. How
is the revenue account different from
that of the capital account? 6+4=10
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